	
	12:12:12

	[bookmark: _GoBack]am or pm?
	post meridiem

	Number of lines in R-T table
	Time= 12:12:12

	Read table value by []
	First caption in group 'A' <Caption 1 />

	Additional payment
	42,500

	Pos.
	Caption
	Group
	SUM1
	SUM2
	Which field is bigger?
Result is STRING by default
	Plus (GROUP cp '*A*'  ) ELSE minus
Covert result to double

	1 
	<Caption 1 />
	GRP A
	5,971.44
	5,021.46
	Sum 1 is bigger
	10992.90 

	2 
	<Caption 2 />
	GRP C
	2,276.75
	7,717.20
	Sum2 is bigger
	-5,440.45

	3 
	<Caption 3 />
	GRP B
	3,031.38
	445.22
	Sum 1 is bigger
	2,586.16

	4 
	<Caption 4 />
	GRP A
	9,476.79
	3,683.27
	Sum 1 is bigger
	13160.06 

	5 
	<Caption 5 />
	GRP A
	4,604.00
	5,525.85
	Sum2 is bigger
	10129.85 

	6 
	<Caption 6 />
	GRP C
	2,159.71
	2,260.94
	Sum2 is bigger
	-101.23

	7 
	<Caption 7 />
	GRP B
	2,490.30
	6,388.81
	Sum2 is bigger
	-3,898.51

	8 
	<Caption 8 />
	GRP A
	5,476.81
	406.18
	Sum 1 is bigger
	5882.99 

	9 
	<Caption 9 />
	GRP D
	689.66
	518.60
	Sum 1 is bigger
	171.06

	10 
	<Caption 10 />
	GRP C
	5,451.87
	4,061.85
	Sum 1 is bigger
	1,390.02

	11 
	<Caption 11 />
	GRP D
	4,573.55
	5,436.00
	Sum2 is bigger
	-862.45

	12 
	<Caption 12 />
	GRP C
	1,196.35
	522.46
	Sum 1 is bigger
	673.89

	13 
	<Caption 13 />
	GRP C
	7,686.95
	2,727.98
	Sum 1 is bigger
	4,958.97

	14 
	<Caption 14 />
	GRP D
	978.18
	295.55
	Sum 1 is bigger
	682.63

	15 
	<Caption 15 />
	GRP D
	71.12
	8,878.56
	Sum2 is bigger
	-8,807.44




